<18+ « ) 2013
PB - PC 10 +2 /37
25 /37 1 AB AC PB + PC
MA = 3+Z—T s —
AB AC PA
pr=ma+2 =7 1o ; 2 i
2 AABC AP =2 P
2
13
G- +(v-3) -5 A2
2
(\/237+2) _%:10 +2 /37
° ( 225000)
ac<3 2a +¢c=2 J2ac
3
1
a c a +c* —ac=3
2a +c 1 a* +c* —ac=3
2 2
2.7 : 46 14 1 2a+c=m
32 32 15 c=m-2a
2 /6. a*+cd —ac=3
2 7a* —=5ma +m*> -3 =0.
15 2./6 A=0
“@ » (Sm)z —28(m2 —3) 20
2/ 7<sm<2/7
2a +c¢ 2./7.
a*+c® —ac=3 2
. 2 a#0 L=k c=dk
a +c¢ —ac=3 a

@’ +¢* =3 +ac=2ac

ac<3
2a +c=2 V2ac=2 /6
2a +c¢ 2./6.
2 :
2a +c¢ 2a +c=2 2ac

a +¢ —ac=3
(K -k+1) =3
2 _ 3
E—k+1

a
Qa+¢)’ =@ +k)’a’ =

Sk +3
1 - -
3( +k2—k+1)’

3Q2+K)° _
E—k+1



10

¢ 19

O =3(1+

5k +3
K —k+1)

S =/ 5) =28
21

2a +¢

+./3

2a+c= £/3<2./7
2./7.

2a +c¢

3 a* +c¢* —ac=3

3 2a +c¢

a c I AABC B =60°

b=J3 2a+c
a b ¢
sinA  sinB  sinC
a =2sinAd ¢ =2sinC
2a +c¢ =4sinA +2sinC =

2R

Asind +2sin(2?ﬂ—A) -

5sind +./3cosA =2 /Tsin(A + ¢)

/21 57 2
v N
1 cosp = 1 0<Ac< 3

247,

sing =

2a +c¢

! 2011

16 : AABC B =60° AC =3
2BC

AB +
4 a* +c¢* —ac=3

4 a*+c —ac=3

c\> 3¢
(a—z) +T—3.

a —% =ﬁsina gc :ﬁcosa

a =/3sina + cosa ¢ =2cosa

2a +c¢ =2 3sina +4cosa =2 /Tsin(a + @) <

247
2a +c¢ 2./7.
5 @+ —ac=3
5 @’ +c* —ac=3
2 2
c 3¢
=) +% =3
a-S o £ 2
2 "2 7Y
xz 2
r -1
377
2a +c¢=2x +4y
2
3 +y =1 2x +4y
WA 2a +¢ 2./7.
5
ad+ct —ac=3 ?
?
4
Y

x2+y2—xy:3

? ?
P(x y)
450 P/(x/ y/)

x =x"cos45° — ysin45°;
{y =x7sin45° + y cosdS5°
X +y —xy =3
27 y?
6 +7=1
2a +c =\/22(3x’—y’).

[N}

r
6

2Gx-p)



